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" 2m80 ® ik MR 3 |FRmpEEFTES —ERE 6.09
" 2m80 B FE |BP 2 |hERE=E —ERE 7.23
" 2m80 Ke =¥ KB 2 |hERE=E =“ERE 7.23
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ElEBE
Bz &k | A= K4 i S BEEA BT A-H
1 6m67| +1.9 |[Hdh EF [#ABRER 3 |=FRPER REHE 7.30
2 6mb5| +1.4 |1+ BF |22 3 |=ERg= =E8E 10.10
3 6m51| +1.3 [l B |BAF0 3 |=ERg= =E8E 10.10
4 6m49| H19 \NEE—H |[ZEXME | 3 |ZEEd= =ERE 10.10
5 6m48| +1.2 | K& [1EFF 2 [EBmEEHRE =E8E 10.18
6 6m38| -0.9 |[&H —i |[FEH 2 |ZFI—h-—=znl ZERE 4.26
" 6m38| +1.3 K HE [ZFEXME | 3 [ZFRFF =E8E 10.10
8 6m35| 00 |HF ME [#5RiE 2 |hERE=E —ERE 7.23
9 6m28| +1.0 |[E% #hi#st [EHE 3 |[ERHE —ERE 10.04
10 6m26| +1.9 [8HF BKX [E5H 3 [ZERFEER E3=Li) 7.30
11 6m25| -05 [HH XiE |—& 3 |mEMmEEI-ZNL mMAH 6.13
12 6m20| +1.3 | B (%Rl 3 [=ERg% =EE8E 10.10
13 6mi15| +1.0 |FH &= [FBE 3 [=ERg% =E8E 10.10
14 6mi13| +1.9 |F1F &K |[#EB 2 |=FRhER REHE 7.30
15 6mi12| +1.6 |E E& |THEF 3 |=ERg= =E8E 10.10
16 6m01| -0.5 [JH £ | 3 |mEMmFEI-ZNL mAH 6.13
" 6m01| +1.9 [FH)Il Ak |[HEEHLE 3 [=ERg% =E8E 10.10
18 5m99| +1.6 i+ RFEFE [EF 3 |FRH=R =E8E 10.04
19 5m96| +1.5 [Fk EA |THEF 3 |fERKZEE HEmE 4.11
20 5m90| +0.4 BB KRB |[XHE 2 [ZERJ-AULEYY ZERE 9.06
=Rk
IB6z| ECEx | EE K4 i 2E |HBBEEA BT A-H
1 13m10| +09 [+ E=E |Z2E4E 3 |BEEFEESHRFTE ZEEE 9.26
2 12m99| +1.8 |F&FH M |#BRFE 3 [WFREFHE =E8E 7.26
3 12m81| +20 |#E# E#R |—i& 3 |=ZERGE —ERE 10.11
4 12m79| +0.1 |k % |BF 3 [=ERg% =EE8E 10.11
5 12m71| +0.7 K BE |ZEXME | 3 |[#REFIE =E8E 7.26
n | 12m71[ +03 [hH =K |FEER 3 |ZEERHE =ERE 10.11
7 12m68| +1.9 [EIf EEt#h |RH+E5 3 [PEBEE=ZE =E8E 7.24
8 12m57| +0.7 [lUAX E&# |== 3 |MABREFE =ERE 7.26
9 12m48| 0.0 |AA& thE |FEHERA 3 |=ZERGE —ERE 10.11
10 | 12m43]| +08 |BER Bt [FZEII 3 |EERHE =ERE 10.11
11 12m42| 0.0 |RZE 8 |MR 3 [=ERg% —ERE 10.11
12 | 12m37| +1.8 |#H KX |FEBERN 3 |=EERHE =ERE 10.11
13| 12m35| -12 |l HF [ZE 3 |=ERGE —ERE 10.11
14 | 12m32| +0.6 |t H &K |[BEH 3 |ZEERFE =ERE 10.11
15 | 12m25| +1.9 |E%H #t |[5H 3 [=ERg% =E8E 10.11
16 | 12mi4| +1.9 st #  |[FEBEII 3 |hERE=E =EE8E 7.24
" 12m14| 04 [} KkiE |XMH 3 |EhZEPSTEHR TR |ZEEE 8.27
18 | 12m07| +12 i+ BFE |18 3 |=ERg=x =EE8E 10.11
19 | 11m98| +1.5 [hATHAKE |BRE 3 |EERGE =ERE 10.11
20 | 11m96| +1.2 [#AK = [BF 3 |BhEHBHMRFE HETE 8.27
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faxn (5.0Kg)

IBfz] EEEk K& i S BEEA BT A-H
1 13m59 Ff KE |EXE 3 |=ZERGE =“ERE 10.10
2 13m46 EO gt /MR 2 |Eh2FEESHRTE ZERE 9.25
3 13m40 A K#t |—& 3 [EimgE ERII 8.11
4 13m33 L #E MR 3 |Paz=TAIVIEYY HEEER 10.24
5 13m01 AN IR T 3 |=EEEPEER HEHT 7.30
6 12m89 =% KA |FRIEZ 3 [EimgE ERII 8.11
7 12m71 T  FEN |FEEI 3 | iR E —ERE 10.18
8 12m21 e &KX |KEB 2 |=ZERg=E =“ERE 10.10
9 12m20 W OEXE [H 3 |=ZERG=E =“ERE 10.10
10 [ 12m09 a0 &t |—F 3 [ZEERJ-AULEYY =—ERE 9.06
11 11m46 JIF BE#H |WF 3 [ZEERJ-AUEYY =ZERE 9.06
12 [ 11mi17 2H B |BEBA 3 |hERE=E —ERE 7.23
13 | 11m00 ) K |30 3 |EhZERNTEHMRTE |ZEEE 8.26
14 [ 10m98 hEETE (BF 3 |mEMEEI-NL mBAH 6.13
15 [ 10m91 AK wTE |ILF 3 |ZEMREHRSE E=L) 4.29
16 [ 10m88 EER =8B /MR 3 [P ERE —ERE 517
17 [ 10m57 =K = EE 2 |ZEMREHRSE E=L) 10.25
18 [ 10m51 e —5H 3 |hEFRE=E —ERE 7.23
" 10m51 Bl Kig |BlfE 3 |gaEH—=/\)L HETE 10.31
20 | 10m33 #Ade E6 | —5H 3 |mEMmEEI-ZNL mAH 6.13

[ fit 2344 (1.5Kg)

JBfz| EEE% K4 i S BmEEA BT A-H
1 44m36 A KEt |—& 3 |=ZERG=E =“ERE 10.11
2 40m72 =% KA |FRIEF 3 |=ZERG=E =ERE 10.11
3 | 39m17 T  FEN |FEE 3 |FBERETE =ERE 8.17
4 39m03 W OEXE [BH 3 |Eh2FRESHRTE ZFERE 9.26
5 38m63 A0 &t |—F 3 |=ZERGE =“ERE 10.11
6 37m43 AK TE |ILF 3 |=ZERGE —ERE 10.11
7 36m61 B B |=E 3 |FiHE=R =“ERE 10.04
8 36m28 LH HE MR 3 [=ERg =EE8E 10.11
9 35m03 BX BHE |33 3 [ZEERJ-AULEYY ZERE 9.06
10 | 34m48 Ff KE |EXE 3 |FRmpEEFTES —ERE 6.09
11 | 33m22 Adk E6 | —5H 3 |=ZERGE —ERE 10.11
12 | 31m67 R BN |AEAE 3 |=ZERGE —ERE 10.11
13| 31mb53 migE FE& [IUF 3 |ZEMREHRSE HERT 10.25
14 | 31m23 WiE X |msx 3 |=ZERGE —ERE 10.11
15 | 31m11 Bl 1 |FRE 3 |FPRmpRESTES =EEBE 6.09
16 | 31m00 ZT BER |EELE 3 |=ZERGE —ERE 10.11
17 | 30m78 e TE |FEBEI 3 [=ERg%E =E8E 10.11
18 | 30m49 FIL #K /MR 3 |HERIE=E =ERE 7.24
19 [ 30m41 EX ¥ |KWLUH 3 |=ZERG=E —ERE 10.11
20 | 29m81 =5 B |REFE— 3 |REEFHE REHE 8.13
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iR
B EEEk K& Bl A BmEEA BT A-H
1 2473 B F=H K#E — & 3 HhEAEERMK —ERE 6.27
(14.89 , 1m65 , 10m67 , 55.46 )
2 2118 = BK XK@ — & 3 HhEAEERK —ERE 6.27
(19.26 , 1m60 , 14m04 , 55.65 )
3 2169 = @B N A F 3 HhEBEERMK —ERE 6.27
(16.48 , 1m77 , 9m87 , 60.13 )
4 2152 /= @O K& AHW 3 HE@EERMK —ERE 6.27
(15.95, 1m55 , 9m10 , 56.09 )
5 2151 = FIE &K &K B 2 hEREERK —ERE 6.27
(17.12, 1m65 , 11m74 , 59.10 )
6 2110 = FF FE  ©ERE 3 HE@EERMK =“ERE 6.27
(16.08 , 1m45 , 10m73 , 57.45 )
7 2064 = FHFE OEH = E 3 HhEAEERMK —ERE 6.27
(16.61 , Tm65 , 9m39 , 59.09 )
8 2022 £ [EH BX E &£ 3 HhE@EERK —ERE 6.27
(17.06 , 1m40 , 9m83 , 54.67 )
9 2006 = EEF BE HUHE 3 HEAEERMK —ERE 6.27
(16.83, 1m60 , 8m70 , 57.78 )
10 1976 = ik 28 #®H F 3 HhEAEERMK —ERE 6.27
(16.43 , 1m50 , 7mb54 , 55.91 )
111965 = @l EX AR 3 HhEAEERK —ERE 6.27
(17.53 , 1m55 , 9m09 , 56.55 )
12 1956 = &hH —H & B 2 hEREERK —ERE 6.27
(16.75, 1m60 , 8m47 , 59.03 )
13 1939 A & FNHr FEEI 3 HEBEEEMK —ERE 6.27
(19.27 , 1m55 , 13m02 , 59.34 )
14 1929 = H®X XK &K % 3 HhEAEERMK —ERE 6.27
(17.94 , 1m55 , 9mO1 , 56.32 )
15 1923 = HEH FF A K 3 HhE@EERMK —ERE 6.27
(16.74 , 1m40 , 8m16 , 55.53 )
16 1916 B @K ZEB =ZEXME 3 $FEEEE™R —ERE 6.27
(18.38, 1m65 , 8m33 , 56.56 )
17 1896 = [Ek % FEBEI 3 HhEAEERK —ERE 6.27
(17.14, 1m40 , 7m28 , 53.88 )
18 1886 = ZTH #H — & 2 hERERK —ERE 6.27
(16.49 , 1m40 , 7m86 , 56.70 )
19 1831 = WAK = EHER 3 HhEREERMK —ERE 6.27
(16.43 , 1m40 , 8m33 , 59.15 )
20 1819 = 2H EE SUHE 3 HhEREERK —ERE 6.27
(18.05, 1m45 , 8m31 , 55.90 )




